BRI S
BES 516-300-S156-S4-D
T BHS001Y

3,8

73,0

SALLUrr

58,0

50,0

18,0

4,8

M16x1
@ 14,0 e7

|
T [ T

= @10,7

|
M12x1

1) OF43F, wwiE

CEAl =

IhRER 24

MTTF (40 °C)

B8R 13817
ThEER R
TFRERT

NS
B

25

EE, R
R
HERE, BR
HENE
BAMEEE
EHRY

L%)EA
LEH
shaEHis
BE, HH
PEM

Internet

720 a

B o

M16x1

FE

11 x 1.5 mm
@16 x 73 mm
ffit i &

40 Nm +10 %
350 bar
M16x1

PTFE

TR (1.4104)
EP

PUR

www.balluff.com

—C14

R

EN 60068-2-27, i
EN 60068-2-6, %zl
SREE

RRE

B ER

BSS

R, |X (VelIESEL)
MELRty, |X
TFEEEUDb

JvizE S

FFRIAE
BARRERI
BATLIIERo, TEMR
BATIHERo, =E
BARHBEE, EUeT
&/ TYEEHIm

R T FeaEUe DC
METEele
R AT
T4 R R R Ui
BIER, S BX
@ FERA

Subject to change without notice: 553669

#1F3%, 309, 11ms

55 Hz, #&ME1 mm, 3x30 min
3

-25...80 °C

IP68

15 %

10 ms
10~30 VDC
DC -13
1000 Hz

10 pA

10 mA
1mA

0.5 pF
0mA

24V

200 mA
100 A

75V DC
15V

33.0 kOhm + D

1/2

eCl@ss 9.1: 27-27-01-01
ETIM 6.0: EC002714
BHS001Y_0.32_2021-03-18



BN ERER

BES 516-300-S156-S4-D

ALY

iTR{CHS: BHSO001Y

BSEE

RHERP =3

g48m 0.34 mm?

B4R 3

SHKEL 5m

&0 M12x1-23k, 4-5t, A-4Rh5
BYHERED 4.60 mm

fEIRRIP =3

EEAN 5$%28, 5.00 m, PUR
B L BLRE =3

=P

Z#ijiE614804

EHRR THHE, EREBEEREN,
BEZHEXMTTFEBLOdIERESIMTTF / BLOdIEH

SALLUrr

el | EE

T2AXIEESa
SAEERE (SrHBE%SL)
BERE, =X (Srivaath)
B XS
EXHARESES, /=
Bi#H, |X (SrBYESEL)
SEFXIEESN

WO
TR HI

BAteR
EAE
Wal— it

1.2mm
5.0 %
10 %
1.5mm
+10 %
15.0 %
1.5mm

PNPE A= (NC)

IEC 60947-5-2
CE

EAC

WEEE

Fr4AHEIMTTF / BLOABEH AR I R/ mEmRkilE | RERERREZRE NWFFREHEREAR. RELEHBERERSERMER

T2 =0 B2 MR P ZR MR IR RS HARR.

Connector Drawings

&

4

Wiring Diagrams

Internet www.balluff.com

Subject to change without notice: 553669

2/2

eCl@ss 9.1: 27-27-01-01

ETIM 6.0: EC002714

BHS001Y_0.32_2021-03-18



